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QUESTION 1

Refer to the exhibit. If switch SW2 was replaced with a router, which two effects would it have on the network? (Choose
two.) 

A. reduce the number of collision domains 

B. increase the number of broadcast domains 

C. increase the number of collision domains 

D. reduce the number of broadcast domains 

E. no change in collision domains 

Correct Answer: BE 

 

 

QUESTION 2

Which two networking devices operate at Layer 1 of the OSI model? (Choose two.) 
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A. Repeater 

B. Bridge 

C. Switch 

D. Router 

E. Hub 

Correct Answer: AE 

It defines the electrical and physical specifications of the data connection. It defines the relationship between a device
and a physical transmission medium (e.g. a copper or fiber optical cable). This includes the layout of pins, voltages, line
impedance, cable specifications, signal timing, hubs, repeaters, network adapters, host bus adapters (HBA used in
storage area networks) and more." http://en.wikipedia.org/wiki/OSI_model 

 

QUESTION 3

What is the function of the Tab key on the Cisco Nexus Operating System command-line interface? 

A. redisplays the current command line 

B. deletes all characters from the cursor to the end of the command line 

C. clears the terminal screen 

D. completes a partially entered command if enough characters are present 

E. moves the cursor one word to the right 

Correct Answer: D 

"Completes the word for you after entering the first characters of the word, and then pressing the Tab key. All options
that match are presented." http:// www.cisco.com/en/US/docs/switches/datacenter/sw/4_1/nx- os/fundamentals/
configuration/guide/Cisco_Nexus_7000_Series_NX-
OS_Fundamentals_Configuration_Guide__Release_4.1_chapter4.html 

 

QUESTION 4

A network engineer proposes that old hubs be replaced by new Layer 2 switches in the company network. Which three
are reasons for this proposal? (Choose three.) 

A. Each port on a switch becomes its own collision domain. 

B. Layer 2 switches provide IP routing at line card speed. 

C. Hubs create one large collision domain and one large broadcast domain, which greatly decreasing network
performance. 

D. Switches create one large collision domain and one large broadcast domain, which greatly increases network
performance. 

640-911 PDF Dumps | 640-911 Practice Test | 640-911 Braindumps                                3 / 5

https://www.lead4pass.com/640-911.html
https://www.lead4pass.com/640-911.html
https://www.lead4pass.com/640-911.html


https://www.lead4pass.com/640-911.html
2020 Latest lead4pass 640-911 PDF and VCE dumps Download

E. By connecting each device directly to a port on the hub, each port on a switch becomes its own broadcast domain. 

F. Data transmission is faster on switches because switches work at line card speed. 

Correct Answer: ACF 

 

QUESTION 5

What is the addressing format of IPv6? 

A. 48-bit dotted decimal 

B. 48-bit colon-delimited hexadecimal 

C. 64-bit dotted decimal 

D. 64-bit colon-delimited hexadecimal 

E. 128-bit dotted decimal 

F. 128-bit colon-delimited hexadecimal 

Correct Answer: F 

"IPv6 addresses are represented as eight groups of four hexadecimal digits separated by colons. The length of an IPv6
address is 128 bits" http://en.wikipedia.org/ wiki/IPv6 
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